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AXE. BOHRECIRZHEFEGTEREYILE TG
BEMMITE, EMAELEHEEXRTEHADERTR, &
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P M2 bk ph 5 R CIGHERE) RIS MGk CILRERR) AR IR PE SR b
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R, FH S 4 0.01M, i HA 2 K, 35 107°, Wi

[HJ[A™]

T THAT =K
(H](0™®) .-
e 107

JCIH™] 2458 245 107°M, M pH=5, Zn R m A 107°MH*, &
10 MH™ ¥R A™ &5 A 0% HA, .
[HAT=10*M-+0.1x10*M=1.1x10"*M
i LA™ 10
[A"]=10"7"M—-0.1x10"2M=09x10"*M

HIHAJfMIA JHA Henderson-Hasselbalch 58, B K. BN
Az,

(107%)(0.9x107%)

1.1x107¢ 107
BAERR H (Bl pH) S8R K A28 1k, 1B ZEIL I

0.9
== 1 —_
pH=pK,+ ogL1

=5—-0.087=4.913

<ZMEE> FRRMERBRESE— &bk RHUE pH
LRI S, A RmiR 2 HY e OH™, pH (k5 E W g &1k,
BRI REME M RBIC. Rz, MAMY &R H e OH G,
R 00 ) PH A QUM L, e R R e R, R b
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